T12 LAUMAS®
MOUNTING KIT for BENDING BEAM load cells

Series laod cells: FCAL - FCAX - FTL - FTK - FTKL - FTP - FT-P - FTZ

Up to 2000 kg application range

T12FCAGP g T12FTAGP

MAX STATIC LOAD kg FOR LOAD CELLS NET WEIGHT (kg) CODE
m FCAL - FCAX 4 T12FCAGP
m FTL - FTK - FTKL - FTP - FT-P - FTZ 4 T12FTAGP

Load cell not included.

DESCRIPTION

Upper plate with a compression joint in AISI 304 stainless steel
and rubber.

Lower plate and block in galvanized steel.

Misalignment compensation of the support plates structure.
Adjustable height.

Locking screw to avoid damage during transport and installation.

Mo Bonpocam npoaax n nopaepxKku obpallanTech:

ApxaHrenbck (8182)63-90-72 KasaHb (843)206-01-48 HoBoky3HeLk (3843)20-46-81 CmoneHck (4812)29-41-54
Actana +7(7172)727-132 KanunuHrpag (4012)72-03-81 Hosocunbupck (383)227-86-73 Coum (862)225-72-31
AcTpaxaHb (8512)99-46-04 Kanyra (4842)92-23-67 Omck (3812)21-46-40 Crasporonb (8652)20-65-13
Baprayn (3852)73-04-60 Kemepogo (3842)65-04-62 Open (4862)44-53-42 Cypryt (3462)77-98-35
Benropop (4722)40-23-64 Kupos (8332)68-02-04 OpeHbypr (3532)37-68-04 Teepb (4822)63-31-35
BpsHck (4832)59-03-52 KpacHogap (861)203-40-90 MeH3a (8412)22-31-16 Tomck (3822)98-41-53
BnapgusocTok (423)249-28-31 KpacHosipck (391)204-63-61 Mepwmb (342)205-81-47 Tyna (4872)74-02-29
Bonrorpag (844)278-03-48 Kypck (4712)77-13-04 PocToB-Ha-[loHy (863)308-18-15 TiomeHb (3452)66-21-18
Bororaa (8172)26-41-59 Nuneuk (4742)52-20-81 PsizaHb (4912)46-61-64 YrbSHOBCK (8422)24-23-59
BopoHex (473)204-51-73 MarnuToropck (3519)55-03-13 Camapa (846)206-03-16 Ypa (347)229-48-12
ExaTepuHbypr (343)384-55-89  Mocksa (495)268-04-70 CankT-TMeTepbypr (812)309-46-40  Xabaposck (4212)92-98-04
MBaHoBo (4932)77-34-06 MypmaHck (8152)59-64-93 CaparoB (845)249-38-78 Yenabuxck (351)202-03-61
WxeBck (3412)26-03-58 HabepesxHbie YenHbl (8552)20-53-41  Cesacrtonons  (8692)22-31-93 Yepenosel (8202)49-02-64
WpkyTck (395) 279-98-46 HwxHuii Hosropop (831)429-08-12  Cumdeponons  (3652)67-13-56 SApocnaens (4852)69-52-93
Kupruansa (996)312-96-26-47 KasaxctaH (772)734-952-31 TapxukucTan (992)427-82-92-69

3n. nouta mfd@nt-rt.ru || Cant: https://laumas.nt-rt.ru/



T12

MOUNTING KIT for BENDING BEAM load cells

LAUMAS"

Rev. 0.0

DIMENSIONS AND TECHNICAL SPECIFICATIONS

During the transport and installation the lock (*) must touch under
the load cell. After installation, move the lock away from the load cell.

Interconnect the lower plates to the earthing.

In case of structure with four-point support, if one-point does not
touch the upper part of the mounting kit, you must proceed to
insert a shim before fixing the bolts.

for load cell: FTK - FTKL - FTL - FTP - FT-P - FTZ (max 2000 kg) for load cell: FCAL - FCAX (max 1500 kg)
ANTIV40 ANTIV45
(M12 x 1.75) \ PIAGP | PIAGP | (M12 x 1.75)
Ho
| g
I N
ezl * - = * load cell
BLOCT12C g * . g BLOCT12C
T, STO—T1—
PIAT12FCA PIAT12FCA
18.5 |_|135
PIAT12FCA PIAT12FCA
O o O O o O
CORRECT POSITIONNING OF BLOCT12C CORRECT POSITIONNING OF BLOCT12C
THE METAL BLOCK ON THE O O THE METAL BLOCK ON THE OO
LOWER PLATE LOWER PLATE
18.5 25| |_16 10 | [25] | 135
O O O O
PIAT12FCA BLOCT12C PIAGP
n Lﬂ’i 0
i ¢ 1o 1 <
© N 2x @13
i X2 \ 4x @13 Vs \/
4x M12x1.75 51 3 3 NSEY,
I L ™™ & al i
N hdl Q © o
4x @13 — 15 90 |15
( o 25 |16 | 120
©
15 | 130 15 |
i <=
[se]
<
Section A-A
mw¥’in
) W7 1) ‘ 234 ‘
18.5 ‘ 25 ‘ ‘ 25 | 1135
ANTIV40 ANTIV45
M12 x 1.75 mm M12 x 1.75 mm FIXING TO THE WEIGHED STRUCTURE POSSIBLE UPPER PLATE POSITIONS
Ji STRUCTURE | ‘ STRUCTURE \
@) ° ol o o O
o° ©
o o
o O] o o o




